7.1

1. Find the following square root, if possible. (Enter your answer as a fraction.) 


2. Find the following square root. Assume that all variables are unrestricted, and use absolute value symbols if necessary. 
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3. Find the following square root. Assume that all variables are unrestricted, and use absolute value symbols if necessary. 
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4. Simplify the cube root. 
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5. Simplify the following cube root. (Enter your answer as a fraction.) 
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6. Simplify the radical. 
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7. Simplify the following radical. Assume that the variable is unrestricted, and use absolute value symbols if necessary. 
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8. Simplify the following radical. Assume that the variable is unrestricted, and use absolute value symbols if necessary. 
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7.3

1. aman = 

1

2. a0 = 1[image: image8.wmf]

, provided a ≠ 2[image: image9.wmf]

.

3. Change the following radical to an exponential expression. 
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4. Simplify the expression. 
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5. Simplify the expression. 
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6. Simplify the expression. Assume that the variable is unrestricted, and use absolute value symbols if necessary. 
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7. Simplify the expression. 
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8. Write the following expression without using negative exponents, and simplify if possible. Assume that the variable represents a positive number. 
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9. Perform the operations. Write the answer without negative exponents. Give the answer as an exponential expression. 
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10. Perform the operations. Write the answer without negative exponents. Assume that all variables represent positive numbers. Give the answer as an exponential expression. 
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11. Perform the operations. Write the answer without negative exponents. Assume that the variable represents a positive number. 
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7.4
1. Simplify the expression. Assume that the variable represents a positive number. 
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2. Simplify the expression. Assume that the variable represents a positive number. 
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3. Simplify the expression. Assume that both variables represent positive numbers. 
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4. Simplify the radical. 
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5. Simplify the radical. 
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6. Simplify the radical. 
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7. Simplify the radical. Assume that both variables represent positive numbers. 
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8. Simplify the following radical. Assume that all variables represent positive numbers. 
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9. Simplify and combine like radicals. The variable represents a positive number. 
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10. Simplify and combine like radicals. 
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11. Simplify and combine like radicals. 
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12. Simplify and combine like radicals. 
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7.5
1. The conjugate of √x + 1 is

2. Perform the multiplication and simplify. 
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3. Perform the multiplication and simplify. 
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4. Perform the multiplication and simplify. 
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5. Perform the multiplication and simplify. Both variables represent positive numbers. 
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6. Perform the multiplication and simplify. 
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7. Rationalize the following denominator. 
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8. Rationalize the denominator. 
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9. Rationalize the denominator. 
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7.6
1. When solving equations containing radicals, try to 1[image: image38.wmf]

 one radical expression on one side of the equation.

2. Solve the equation. 
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x = 1[image: image40.wmf]


3. Solve the equation. 
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x = 1[image: image42.wmf]


4. Solve the following equation. (Enter solutions from smallest to largest. If there are any unused answer boxes, enter NONE in the last boxes.) 
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n = 1[image: image44.wmf]

 
n = 2[image: image45.wmf]


5. Solve the equation. 

[image: image46.png]



x = 1[image: image47.wmf]


6. Solve the following equation. (Enter solutions from smallest to largest. If there are any unused answer boxes, enter NONE in the last boxes.) 
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x = 1[image: image49.wmf]

 
x = 2[image: image50.wmf]


7. Solve the equation. 

[image: image51.png]



x = 1[image: image52.wmf]


7.7
1. Perform the operations. Write the answer in a + bi form. 
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2. Perform the operations. Write the answer in a + bi form. 
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3. Perform the operations. Write the answer in a + bi form. 
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4. Perform the operations. Write the answer in a + bi form. 

(2 - 9i)2 
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5. Perform the operations. Write the answer in a + bi form. 
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6. Write the expression in a + bi form. 
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7. Simplify the expression. 

i56 

8. Simplify the expression. 

i43 

9. Find the following value. 

[image: image60.png]8 + Gi




CT7

Top of Form

[image: image61.wmf]

ARANCKCGBhCX



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image62.wmf]


1. Find the following square root, if possible. (Enter your answer as a fraction.) 
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2. Find the following square root. Assume that all variables are unrestricted, and use absolute value symbols if necessary. 
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3. Find the following square root. Assume that all variables are unrestricted, and use absolute value symbols if necessary. 
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4. Simplify the cube root. 
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5. Simplify the following radical. Assume that the variable is unrestricted, and use absolute value symbols if necessary. 
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6. Simplify the expression. 
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7. Simplify the expression. Assume that the variable is unrestricted, and use absolute value symbols if necessary. 
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8. Write the following expression without using negative exponents, and simplify if possible. Assume that the variable represents a positive number. 
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9. Perform the operations. Write the answer without negative exponents. Give the answer as an exponential expression. 
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10. Perform the operations. Write the answer without negative exponents. Assume that all variables represent positive numbers. Give the answer as an exponential expression. 
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11. Perform the operations. Write the answer without negative exponents. Assume that the variable represents a positive number. 
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12. Simplify the expression. Assume that both variables represent positive numbers. 
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13. Simplify the radical. 
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14. Simplify the radical. Assume that both variables represent positive numbers. 
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15. Simplify and combine like radicals. The variable represents a positive number. 
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16. Simplify and combine like radicals. 
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17. Perform the multiplication and simplify. 
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18. Perform the multiplication and simplify. 
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19. Rationalize the denominator. 
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20. Solve the following equation. (Enter solutions from smallest to largest. If there are any unused answer boxes, enter NONE in the last boxes.) 
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n = 1[image: image120.wmf]

 
n = 2[image: image121.wmf]

 

21. Solve the following equation. (Enter solutions from smallest to largest. If there are any unused answer boxes, enter NONE in the last boxes.) 
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22. Perform the operations. Write the answer in a + bi form. 
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23. Perform the operations. Write the answer in a + bi form. 
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24. Simplify the expression. 
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25. Find the following value. 
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